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1. X Abzta| ] 26,830,220 26,831,000 780
1. RHAEF X[ H] 22,769,000 22,769,000 O|1. WYTAL HAIEE S=4H|(E Y] WX §) = 869,000
2. MAEAL 2[R ZA| = 21,900,000
H(1+2)= 22,769,000
2. 3otEEE 4,061,220 4,062,000 780 1(ﬁ§:§; Eliﬂgﬂigl 587% of 75| 493,540
A01LQIJIEXHA A —
3. 87| FUMEARS) = 250,000
4. A BI| 2L BEE SN =
(MSEYAZZTOIANE 247,248HK|, T2 T LOLZH A2 A2| 59918 745,380
Xl)
H(1~4)= 4,061,220




(A Z) (BUEH : 2)

. Zao | mEolu oo
2 & = YA A E 7 X
(A (B) (B-A)
4 HEZ 1,191,638,700| 1,191,639,000 300
1.8 3 1,191,638,700|  1,191,639,000 300
1.8t MEZ | 1,191,638,700| 1,191,639,000 300|1.8t 0 2YH| = 479,132,000
2. HHREZ(100%FE) = 499,813,000
-3 RYHE = 287,340,000
-HEEEREE = 127,365,000
- MeiEdE = 20,816,000
- 7|BHAIS A 4T E Y-S0, 1, 18 M) = 64,292,000
3. n3Y E¥YOFE = 207,700,000
4.2018stAE St HOolM B33 = 4,539,570
520188t StE XUASN 22 = 454,130
A(1~5)= 1,191,638,700
5. %% & 75,311,860 75,425,000 113,140
1.8 X & 75,311,860 75,425,000 113,140
1.2 43 3,375,000 3,375,000 O|1. n2&ny 20 MZHE8Y) = 1,320,000
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